— CAT.CS50-19@

KKA — KK13

1
. g@‘
T X\

[SUS304
0 FKM
=5 150

1,18, 185

OKKAT819 O



M5 R1/8 R1/4 R3/8 R1/2 R3/4
KK2 Q
KK3 Q Q Q
KK4 Q Q Q Q
KK6 Q Q Q

M5 Rc1/8 Rc1/4 Rc3/8 Rc1/2
KK2 Q
KK3 Q Q Q
KK4 Q Q
KK6 Q ()

( )

5/8 6/9 6.5/10 8/12 [85/125| 11/16
KK3 Q Q Q
KK4 Q Q o Q Q
KK6 Q Q Q

( )

23.2 o4 06 28 210 212 216
KK2 Q Q Q
KK3 Q Q Q Q
KK4 Q Q Q Q
KK6 Q Q

R1/8 | R1/4 | R3/8 | Ri/2
KKH3 Q Q Q
[KKH4 [ © (%) Qo Q

KKH3 Q Q Q
[ KKH4_| Q Q
( )
5/8 6/9 6.5/10 8/12 [8.5/12.5
KKH3 Q Q Q
| KKH4 | © Q Q Q Q

KKA B

R-Rc1/8 | R-Rc1/4 | R-Rc3/8 | R‘Rc1/2 | R‘Rc3/4 | R-Rc1 |R-Rc1 1/4 |R:Rec1 1/2
KKA3 Q Q Q
KKA4 Q Q Q
KKA6 Q Q Q
KKA7 Q Q Q
KKA8 Q Q Q
KKA9 Q Q Q
KK13 oo T .

R1/8
KK13 Q

R3/8
| © |

R1/4 R1/2
Q Q

‘ Rc1/4 Rci1/2 G1/4
KK13 Q Q Q Q

KK13 Q | o | o [ o ]
( )
5/8 6/9 6.5/10 | 812 [8.5/12.5| 11/16

KK13 | © [ © | © | © o |




KK2 KK2P-M5M | KK2S-M5M 3.8 010.0 6.1
KK3 KK3P-01MS | KK3S-01MS 20 020.2 20.1
KK4 KK4P-02MS | KK4S-02MS 39 028.0 441
KK6 KK6P-04MS | KK6S-04MS 82 031.6 90.1
1)
2)

[ ]
4 032 016 -

[ ]

—
. —
[ ]
) M5(KK2 )

!
J
1

O

SVC




KK

(P) (S)
o M5x 0.8 | KK2P-M5M e M5x 0.8 | KK2S-M5M
R1/8 -01MS R1/8 -01MS
R1/8 | KK3P-01MS R1/8 | KK3S-01MS
1/8 R1/4 -02MS 1/8 R1/4 -02MS
R3/8 -03MS - R3/8 -03MS
R1/8 | KK4P-01MS R1/8 | KK4S-01MS
R1/4 -02MS N R1/4 -02MS
/4 R3/8 -03MS 174 R3/8 -03MS_
R1/2 -04MS R1/2 -04MS
R3/8__| KK6P-03MS_ R3/8 | KK6S-03MS_
1/2 R1/2 -04MS_ 172 R1/2 -04MS_
R3/4 -06MS_ R3/4 -06MS_
M5 M5x 0.8 | KK2P-M5F M5 M5x 0.8 | KK2S-M5F
Rc1/8 | KK3P-01F Rc1/8 | KK3S-01F
1/8 Rcl/4 -02F 1/8 Rcl/4 -02F
Rc3/8 -03F Rc3/8 -03F
Rc1/4 | KK4P-02F Rc1/4 | KKA4S-02F
14 Rc3/8 -03F 14 Rc3/8 -03F
7 Rc3/8 | KK6P-03F s Rc3/8 | KK6S-03F
Rc1/2 -04F Rc1/2 -04F
5/8 | KK3P-50N 5/8 | KK3S-50N
1/8 6/9 -60N 1/8 6/9 -60N
6.5/10 -65N 6.5/10 -65N
5/8 | KKA4P-50N 5/8 | KK4S-50N
6/9 -60N 6/9 -60N
1/4 6.5/10 -65N 1/4 6.5/10 -65N
8/12 -80N 8/12 -80N
85/125 -85N 8.5/12.5 -85N
8/12 | KK6P-80N 8/12 | KK6S-80N
1/2 8.5/12.5 -85N 1/2 8.5/12.5 -85N
11/16 110N 11/16 -110N
mm mm
32 | KK2P-23H 32 | KK2S-23H
M5 4 -04H M5 4 -04H
6 -06H 6 -06H
4 KK3P-04H 4 KK3S-04H
6 -06H 6 -06H
L 8 -08H Lt 8 -08H
10 -10H 10 -10H
6 KK4P-06H 6 KK4S-06H
8 -08H 8 -08H
174 10 -10H 1/4 10 -10H
12 -12H 12 A12H
12 KK6P-12H 12 | KK6S-12H
1/2 16 -16H 1/2 16 -16H
mm mm
32 KK2P-23L 32 | KK25-23L
M5 4 -04L M5 4 -04L
6 -06L 6 -06L
4 KK3P-04L a KK3S-04L
6 -06L 6 -06L
U 8 -08L e 8 -08L
10 0L 10 0L
E KKaP-06L B KK4S-06L
8 -08L 8 -08L
1/4 10 0L 1/4 10 0L
12 2L 12 2L
12 KK6P-12L 12 KK6S-12L
iz 16 6L Lz 16 6L
mm mm
32 KK2P-23E 32 | KK2S-23E
M5 4 -04E M5 4 -04E
6 -06E 6 -06E
4 KK3P-04E a4 KK3S-04E
6 -06E 6 -06E
e 8 -08E e 8 -08E
10 -10E 10 -10E
6 KK4P-06E 6 KK4S-06E
8 -08E 8 -08E
174 10 -10E 1/4 10 -10E
12 A2E 12 A2E
12 KK6P-12E 12 KK6S-12E
1/2 il -16E 1/2 16 -16E
8 ZS\NC

4



- ) KK2: —100kPa 1.0MPa
L % KK3: —-90kPa 1.0MPa
ﬁ KK4-6: 0 1.0MPa
KK2 . 15M5Pa G
f : 5  40°C
( )
( )
)
; !
- : ‘
" e
i‘ij e ¥
L] ) C )
KK3, 4, 6 )KK2
JIS
2
—o mm
M5 KK2P-M5M KK2S-M5M 3.8
1/8 KK3P-01MS KK3S-01MS 20
O 1/4 KK4P-02MS KK4S-02MS 39
1/2 KK6P-04MS KK6S-04MS 82
2 M5 l (
8 1/8
4 1/4 ®
6 1/2
M
: F
S N
P H
L
E
[ ]
mm I mm
M5 M5 x 0.8 23 03.2 50 5/8
01 R, Rc 1/8 04 o4 60 6/9
02 R, Rc 1/4 06 06 65 6.5/10
03 R, Rc 3/8 08 08 80 8/12
04 R, Rc 1/2 10 210 85 8.5/12.5
06 R, Rc 3/4 12 012 110 11/16
16 016
ZSNC




(0 0.4MPa)

KK

1MPa)

(0

! T
| | T
| | | T
| | | | T
booomio | | | i i <
S R P I i 1 I o
o' i ——— koo i i 1
2. , e | |
It | | | deemoo- .
\\\\\ 2\, 1 1 1 1 1 -==--
g1\ 1 | | | | A i
S | R SRR | | | %) . — <
+ ! i 1= ---- l I = L i o
| | | bococos | N T
[ :Mu, ) i i i Locomm=d] ™ Sa\ - i o
Aooooo ' | ' ' ! : o - — - = 1
QN ] | ” ° N =
g | | Tt . | = | g
IR : : : : e gl 9
X i------1 " | i | | W \\\\\\\\\\ : <
| bocad\e L | | | ¥ o
: : : : § : 1S
i | | d e e - | | © : | S}
L | | | === L ~ o 7)) | n
“““ L] , ” ” Feoee4g = N e
i S — ] ] i ] 4 —- o
| I\ | | < | ?-
| | | S | | | %)
| i ' \ e~ ' ' 5]
wwwww | 7 i I i e e d i i NG
Sedeoooo " , | | RN : = ©
| oo o= i i i | eI ~n £
| | TN 1 | s =
1 1 1 1 M R
““““ | | | | | | S S
Tomoo oo - | | | | b NN
| ] B ' ! UV NNNEREANERAL A
' 1 ' [ | '
' ' | i |
| ' ' ! b --r
~ L ' ' ' ' ' b R
«l3 8 0 : ” : ” ST “
3 S) o < - : ; S
| ° 3 S S o ~ " T T ”
4 e = s} o = o | o b0 SRR
o (=] = S [{e ]} i ' ] . ] . i ' I NG
T © S S << o o oo A N\
o A N oo L L ! i ! l . ]
mc 2 2 g ° 2 g [ R A ”
4 o o i1 O O N~ © L R
o q ) O O n < h
¥4 ©c o o = 9 o
i © o o o © O = o
” : Uy 228 g g
Lt ! J . € o
—_r--==\- 1 1 ! T
' ——ma--- | ' ' 5 —
e s e i ' | i
[____! s . et [ . T
SR T) | | ! posoogeossy o : i T :
= ERREEEREE I S N
00N R ! . N ' 0 ' ! ' ! i T
L___ Y ) l Femm s ] oo oot | ] ! | ! i T
-L X ! | : SETTESEReE © 0 i [ ! ! | : k 1
X T\ N : , ” : o , ” | R B S\ e : , :
+ A N o | L___ i ! ' 1 YR G\ ¥ .
F- s 0 IR S L ' e : | i P\ 0 N &
-- . l i Foeesgeses e SEANELE ! (75} l l P
Ik R | , : TR = R | ! S [O
s N " | m ! ° | S ! | g o =
IR I ” ” Y e P g AN LS ®
“M wv\ww\wﬁw\ww” i : ' 7T © : m ”ww o S | ! ! : m S
3 Jeoetheaodngoss R ” o e ” 2o\ | &
| I ! 1 ,w\\w”\\w\\,w ! o7 + - - . 1 ! o ! ! w,r - N~
“““ : , : , b Ju & ) sopossded : = | , m.u.o.
N e TN e N\ £
« | LEr : . .
““““ | (oot V- S R IS 5o
““““ | | , , LR D Fo--d----4 X ! : » | O
[ ] 0 i ] o '@ ! . i ¥ X l J )
S R NG g8 11N deed b\ B E
\\\\\\\ i i i __.& ”‘K(C\L\ 0 ' d | L. xln ©
“““ - | , 1----4 2 , ! ,jﬁ‘,ﬁﬁf | ! : | , s £
Josocdhooad ' : ! o | : ; ! 4, ceofbNedbooad \ i =
: R , A L ] T TN LV
“““ | | s ” e ” , , [ROTL CEREE !
. ' : Je=mmg N i : : CﬁCJFJL : i S
. i ! ! © 0 ! . i ! AN |
0 ! et ] e 0 ' ' 0 . ' SR NG |
| ! ! | I\ Fossgomos) , , : , , e
o H ' ' 0 | R e — j [ : ! ' : ! a
) L : | , ! | o : : A,CCT‘J, ! :
Ao ) i , ” : | A R R o\
A ) ) n o L I J ' | ! A W W
o 5 N n L 3ooooboood 1 L : 1N
K © o N — =] n o ' 0 i o
( g 2 2 g S © ! ! R
] - |
HNY) Uiw/gw o o o < : ! ” | Ao
Py ) i ! | )
~ © |
m e :
o
(HNY) U e
VAT




KK2

—_

O

<

1 PBT
2 - NBR 2 PBT
3
4
5
6 o) NBR
7 PBT
8
9 o) NBR
10 o) FKM
11 PBT
12
KK3,4,6 13 - NBR
<
1 1
14 - 2 PBT
15 NBR 3 PBT
4 PBT
5 PBT
6 PBT
7
8
9 o FKM
10 [0} NBR
11 0 NBR
12
13
14 _
15 NBR
16 2
17 NBR




KK

/ (P)
(mm)
KK2
T H L1 L2 A
mm?2 g
- M5 x 0. 7 : ) . )
KK2 w5 | _KK2P-M5M 5x 0.8 188 | .| 158 | 25| 44| 26
-01MS R1/8 0 23.2 192 | 34| 81| 30
E KK3P-01MS R1/8 30.4 184 26.4 8.4
1/8 -02MS R1/4 14 33.4 | 274 60 14.2
-03MS R 3/8 17 36.9 | 19.9 | 30.4 ’ 226 28.1
KK4P-01MS R1/8 i 37.0 33.0 17.0
KK3- 4- 6 s -02MS R 1/4 40.2 - 34.2 20.2
-03MS R3/8 17 422 “ | 357 | 90| 509 325
l|m -04MS R1/2 22 46.2 38.2 57.4
’ KK6P-03MS R 3/8 19 48.0 415 | 11.0| 76.0 | 44.7
112 -04MS R1/2 22 20 | 31.0 | 44.0 .
52.0 13.0 | 106.2 | 587
-06MS R 3/4 27 55.0 455 94.4
R
(mm)
T H
L1 L2
mmz2 g9
M5 | KK2P-M5F | M5x0.8 8 176 | 123 3.4 8.1 2.6 T
KK3P-01F Rc 1/8 14 283 | 184 10.4 \!ﬁ
18 -02F Rc 1/4 17 350 | Lo 60 | 226 | 208 — EH}H]j[
-03F Rc 3/8 19 36.8 ) 23.2
KK4P-02F Rc 1/4 17 37.2 23.9
25.2 9.0 509 ——— H L2
" “03F Rc 3/8 19 39.8 ° 24.6 ] L
1o | KKEP-03F : 433 | 510 | 130 | 1062 228 1
-04F Rc 1/2 24 50.2 ) ' ’ 43.9
( ) (mm)
H1 Hz2
7 L1 L2 M e g
KK3P-50N 5/8 14 14 36.1 13.7| 45| 127 | 214
1/8 -60N 6/9 i7 399|184 165 54| 183 | 388
-65N | 6.5/10 : “| 59| 219 | 359
KK4P-50N 5/8 17 14 43.9 13.7| 45| 127 | 347
-60N 6/9 54| 183 | 484
17 46.7 16.5
1/4 -65N | 6.5/10 25.2 59| 219 | 451
-80N | 8/12 74| 344 | 532
47.6 M L2
-85N | 8.5/12.5 78| 382 | 55.6 <~
19 19 17.4 L1
KK6P-80N | 8/12 s34 74| 344 | 605
1/2 -85N | 8.5/12.5 310 78| 382 | 6238
-110N| 11/16 24 24 57.2 20.1 (102 | 65.4 | 96.5
7 Y
& S\VC



(mm)
2
oD1 | oD2 | L1 | L2 | M mm .
- . 25| 37 4| 33
M5 e ﬁi: 0342 5o 205 12.3 127 w4 3.4
- o 100 | 80 ' 34| 81| 81 :
-06H| 06 10.0 | 23.5 13.5 4.0 M
KK3P-04H | o4 | 120 | 100] .., 16.0| 32| 39| 56| 7.9
- % ’ 17.0| 4.7 | 10.1 : 9.1 1 5
8 06H| 06 |14.0 | 12.0 184 12.8 8 ] a
08H| 08 |16.0 | 140|386 185 | 157) | 132
-10H| 210 |19.0 | 17.0 | 39.7 210| | 226 Pl 176 Lo
KK4P-06H| 06 | 140 | 12.0 17.0| 47| 10.1| 12.8| 22.3 L1
a 08H| 08 |160| 140|462 | | 185 62| 198| 226 230
-10H| 010 |19.0 | 17.0 “ 1 210| 77| 276/ 353| 27.1
“12H 12 | 210 | 19.0 225 200201 402} g1 800
1o | KK6P-12H e : il I S 92| 412 | 444
16H| o016 |26.0 | 257 ) " | 250| 130| — |106.2| 50.7
(mm)
2
oD1 | oD2 | L1 L2 L3 M mm g
KK2P-23L| 03.2
9.3 | 24.0 165|127 | 25| 36| 43| 58
M5 04L| o4 12.3 2D
-06L| 06 [10.0|11.6]|251 16.6 |13.5| 34| 78| 78| 6.4
KK3P-04L| o4 10.4 | 31.6 18.0 [16.0 | 30| 37| 53| 7.2
06L| o6 128 | 328 200 |17.0 | 45| 101] 11.4] 80 I3
1/8 18.4 == .
-08L| 08 |12.0 152|340 230|185 | | 150| 168] 97 ___ﬂ]B g
-10L| o10 [17.0 | 185 36.0 265 (21.0 | | 18.0| 18.5| 23.0 5
KK4P-06L| 06 | 128402 20.0 [17.0 | 45| 10.1| 11.4| 19.6 P
i -08L| 08 ~ 1152|414 |252 (230|185 | 60| 175| 198 21.3
AOL| o 185428 265 (21.0 | 75| 24.7| 27.5| 25.7
4] .
-12L 20,9 1440 085 | 220 | 90290 29.6| 280
1o |KK6P-12L| o012 |19.0 49.9 |31.0 38.1| 39.7| 40.3
-16L| 016 [21.0 | 265|535 340 250 | 13.0| — | 58.7| 48.7
(mm)
H1 | H2 )
T L [L2|Ls|m mm g
- 2 |M8x07 1 25| 3. : .
M5 KKZPiZE u342 M:xg; 10 1(1) 283 12.3 125|127 B Zg
- 0 o ' 34| 81| 81—
-06E| o6 |uixos| . | ., |286 12.7 (135 9.7
KK3P-04E| o4 |Mi2x1 39.3 16.9(16.0| 32| 39| 56| 16.6
"8 -06E| o6 |M4xi| . |17 |402| . ,[168(17.0| 47]10.1] 128] 223
-08E| 08 |Mibx1 19 |43.4 20.0 [18.5 15.7 30.2
6.0 22.6
10E| 010 |M20x1| 22 | 24 |46.4 22.0 [21.0 226 54.7
KK4P-0BE| o6 |Mi4x1| | 17 |47.0 16.8(17.0 | 4.7/ 10.1| 12.8| 30.6
4 -08E| 08 |Mi6x1 19 |50.2|,.,[200 (185 6.2]19.8 226| 382
-10E| 010 |M20x1| 22 | 24 [532|  |22.0|21.0| 7.7|27.6| 35.3| 61.4
-12E 54.2 9.0 40.2 75.2
o12 [M2x1| 24 | 27 23.0 22.0 902 ol
1o |KKGP-12E 60.1 | 4. o 9.2| 41.2 86.1
-16E| 016 |M8x15| 30 | 32 |62.6|  |245(250 | 13.0] — |1062| 1250

O
3



KK

(mm)
H L2 A2
v oD L1 A1 2| g KK2 A1
KK2 mm > T
M5 KK2S-M5M M5x 08 | 8 |, |247|262|, |237| 25| 38| 61
ﬁ .0iMS| R108 | 10 253|268 228| 47| 58| 91 .
- . 0| 6.0|20. ! a - r
KK3S-01MS R10 8 w 375|400/33:5/360 20.4|20.1 S i
108 -02MS R10 4 20.2 315|340, 1, ,]192
KK3. 4. 6 -03MS R30 8 17 38.7(41.2|32.2|345| 1290 Lt NH
KK4S-01MS R108 50.4|54.1|46.4|50.1| 6.0/22.9|475 L2
o4 -02MS R104 19 280 51.0/54.7|45.0/48.7| 9.0|38.9|44.1
u' -03MS R30 8 "|50.0|53.7|43.5/47.2|11.0/ 40.4[50.9  KK3. 4. 6
-04MS R102 22 49.7|53.4|41.7|45.4/13.0| 42.7| 61.2 A:
KK6S-03MS R30 8 o4 53.7/59.0/11.0| 71.7| 87.9 ! T
102 -04MS R10 2 31.6/60.2|65.5|52.2|57.5/13.0(82.3| 90.1 -
-06MS R30 4 27 50.7]56.0/150|83.8/1133  Q gﬂl} HE
R L
H
L1
L2
(mm)
KK2 H L2 T
oD L1 o g KK2 |
M5 | KK2S-M5F | M5x 0.8 8 | 100|253 268 | 42| 54| 64 =1 - -
KK3S-01F RclO 8 14 36.0 | 385 20.6 | 23.6
108 -02F RclO 4 17 | 202|401 | 426 | 82| | 344 L1 H
KK3- 4- 6 -03F Rc30 8 419 | 44.4 | 388 L2
KK4S-02F Rcl0 4 19 504 | 54.1 | 109 | 39.6 | 56.9
104 03F 280 51.1 | 54.8 427 | 462
Rc30 8 ' —| 144 : : KK3- 4- 6
KK6S-03F 586 | 63.9 83.1 | 936
102 24 | 316 - [
-04F Rcl10 2 61.0 | 66.3 | 180 | 83.8 | 87.4 a4 ]]H —
H
L1
L2
( ) (mm)
H1 H2 L2
oD | L1
/ M mma2 g
KK3S-50N | 508 | 14 | 14 426|451 |137| 45 |122| 321
108 -60N | 609 20.2 54 (183 | 487
17 | 17 444|469 | 165
-65N | 65010 59|19.2 | 46.4
KK4S-50N | 508 14 54.1|57.8 137 | 45|122|558
-60N | 609 54 (204 | 69.3 8
17 56.8| 605 | 165
104 -65N (65010 19 28.0 59 (241 | 66.8
-80N |80 12 7.4 351 | 685
55.4 | 59.1
-85N | 850125 7.8 71.1
19 17.4 36.6
KK6S-80N | 8012 7.4 107.5
66.0|713
102 -85N [850125| 24 316 7.8 [41.2 110.2
-110N (11016 24 64.4|69.7 | 20.1 |10.2 | 68.4 [119.8

O
:




(mm)
L2 2
oD1 | oD2 L1 M UL KK2
9 a
Q
KK2 KK2S-23H | ©3.2 70|338|353|,,,| 25| 38| 46| 64 ;
M5 -04H | 04 |100| 80|336|351| | 34| 40| 48| 65 Q -
E,’ -06H | 06 10.0|339|354|135| 47| 58| 58| 79 "
KK3S-04H | o4 10.0 | 46.6 |49.1 (160 | 32| 38| 58225 L
108 -06H | 06 0. 120 471 (49.6 |17.0 | 4.7|104 134|244 L2
KK3-4-6 -08H 28 1140|489 (514|185 | 6.2|16.8|18.9| 273
-10H | 210 17.0[49.9 524 (210 | 7.7[191|19.1|37.1 KK3-4-6
i KK4S-06H | 06 12.0 /582|619 |17.0| 4.7|104|13.4|51.4 A
-08H | 08 14.0|60.1 638|185 | 62|183|21.8|51.3 - 8
104 28.0 o =
-10H | 010 17.0 615|652 |210| 7.7|27.0|/294 548 4| : o=
-12H 62.5 . 305 (320|594 E
012 19.0 6621550 9.2 M
102 | KK6S-12H 216 70.1 | 75.4 427|488 |84.1 L1
-16H | 016 " |25.7|723|77.6|250 | 132|534 |625|99.9 L2
(mm)
oD2
oDt | oD2| L1 | L2 | s | m e KK2
KK2 g Len
KK2S-23L | 03.2 o
[ ° 03(260(275|165(127| 25| 37| 44| 67 il =2 e
Y M5 -04L | 04 |10.0 — :
mai;- -06L | 06 11.6|27.2(28.3|16.6|135| 45| 56| 56| 72 Q ‘H—-II~-
KK3S-04L | o4 10.4|41.7|44.2[18.0|16.0| 30| 37| 53|232 - L
-06L | 06 12.8(42.9(45.4(20.0|17.0| 45|10.1|11.4| 24
108 % 1502 8 240 L2
-08L | 08 15.2|43.1|45.6 [23.0|185| 6.0|150|16.8| 25.0
KK3-4-6 -10L | 610 185/42.9|454|265|210| 75|180|185|344  KK3-4-6
KK4S-06L | 06 12.8|54.3(58.0(20.0(17.0| 45|10.1|11.4|535 oD2
104 -08L | 08 |, |152|555 59.2(23.0(185| 6.0|17.5|19.8|531 A
-10L | 010 |7 |185|54.2|57.9(265(21.0| 7.5|247|275|54.7 _ =g
-12L 55.4(59.1 9.0/290(296|570 & -
212 20.9 285 (22.0 1
KK6S-12L 66.3|71.6 381(39.7| 914 L
102 31.6 13.0 L1
-16L | 016 26.5|66.9|72.2|34.0|25.0 50.3|58.7| 935 L
(mm)
H1 | H2 T KK2
U oD| L1 |2 3| m i
7mm
KK2 KK2S-23E |3.2|Mgx 075 10 |10 338353 . |, | 25| 38| 46| 96 H1
M5 -04E | @4 M9« 075 11 [10.0|33.5|35.0| | 34| 40| 48] 91 4
w& -06E | 06 |uon| |14 339(35.4[13.1|135| 47| 58] 58/ 126 ©
KK3S-04E | 04 |M12x 1 14 46.6/49.1/116.9|16.0| 32| 38| 58| 290
108 -06E | 06 |M14x1 17 147 202 47.1(49.6(16.8|17.0| 4.7|104|134| 394 .
-08E | 28 |M16x1 19 |©°[49.0/515(20.0(|185| 6.2|168|189| 434 i
-10E | 210 [M20x 1| 22 | 24 49.9(52.4(22.0|21.0| 7.7|191[19.1| 683
KK3-4-6
KK4S-06E | 06 |Mi4x1| |17 58.2/61.9(16.8(17.0| 4.7|104|134| 572  KK3-4-6
104 -08E | 08 |M16x1 19 oo 60.1/63.8/20.0|185| 6.2|183|21.8| 606 Ha2
-10E | 210 [M20x 1| 22 | 24 |7~ |61.7(65.4|22.0(21.0| 7.7|270|294| 868 7mm " T
12E | Voo 1l 24 | 27 62.7/664|230|220|  |305|320]1057 _ !
102 KK6S-12E 216 70117541, | o “|427|488(1160 a4 ~HE
-16E | 016 M 15| 30 | 32 |7 |725|77.8| “|132]534]6251832 | -
M
L3
L1
L2
10

O
2



(S)

R 1/8 KK3P-01MS R 1/8 KKH3S-01MS
1/8 R 1/4 -02MS 1/8 R 1/4 -02MS
R 3/8 -03MS R 3/8 -03MS
m R1/8 KK4P-01MS .' R 1/8 KKH4S-01MS
1/a R 1/4 -02MS 1/4 R 1/4 -02MS
R 3/8 -03MS R 3/8 -03MS
R1/2 -04MS R 1/2 -04MS

Rc 1/8 KK3P-01F Rc 1/8 KKH3S-01F

1/8 Rc 1/4 -02F 1/8 Rc 1/4 -02F

Rc 3/8 -03F Rc 3/8 -03F

1/4 Rc 1/4 KK4P-02F 1/4 Rc 1/4 KKH4S-02F

Rc 3/8 -03F Rc 3/8 -03F

/ mm / mm

5/8 KK3P-50N 5/8 KKH3S-50N

1/8 6/9 -60N 1/8 6/9 -60N

6.5/10 -65N B 6.5/10 -65N

5/8 KK4P-50N - 5/8 KKH4S-50N

6/9 -60N 6/9 -60N

1/4 6.5/10 -65N 1/4 6.5/10 -65N

8/12 -80N 8/12 -80N

8.5/12.5 -85N 8.5/12.5 -85N

KKH
KK
11

N



KKH3: -90kPa  1.0MPa

KKH4: 0 1.0MPa
) 1.5MPa
-5 60°C
: 5 40°C
( )
( )
KK
)
JIS
L —O1—
C )
T O
mm 2
1/8 KK3P-01MS KKH3S-01MS 20
1/4 KK4P-02MS KKH4S-02MS 39
KK P.5
| Lo
3 1/8
4 1/4
' M
s T ] F
N
[}
/ mm
01 R, Rc 1/8 50 5/8
02 R, Rc 1/4 60 6/9
03 R, Rc 3/8 65 6.5/10
04 R, Rc 1/2 80 8/12
85 8.5/12.5
12

O
:




KKH

/ (S)
(mm)
T H L2 A2 A2
oD L1 A1 - g Ai T
KKH3S-01MS| R 1/8 335 | 360 | 6.0 | 204 | 203 T T /
14 37.5| 40.0 a
N 1/8 -02MS| R 1/4 20.2 315|340 | 90 | | 194 ©
4] -03MS| R3/8 17 38.7| 41.0 | 322 | 345 | 9.0 : 27.7 LU - H
KKH4S-01MS| R 1/8 50.4| 541 | 46.4 | 501 | 6.0 | 229 | 487 1+
" -02MS| R1/4 | 19 | |510| 547 | 450 | 487 | 9.0 | 389 | 453
-03MS| R3/8 "~ |500| 537 | 435 | 472 | 11.0 | 404 | 52.1
04MS| R1/2 | 22 497| 534 | 417 | 454 | 130 | 427 | 624
R
(mm)
T H oD L1 L2
mmz2 g T
KKH3S-01F | Rc1/8 | 14 36.0| 385 206 | 23.8
1/8 02F [Rot/4 | 17 |202|40.1| 424 | 82 | | 331
-03F |Rc3/8| 19 419| 443 ' 37.1
KKH4S-02F | Rc 1/4 50.4 | 54.1 0.9 : A
1/4 & 19 |280 ! 39.6 | o8
-03F | Rc3/8 51.1| 54.8 | 14.4 | 427 | 47.4
( ) (mm)
H1 H2 L2
M
/ el | mm?2 g
KKH3S-50N |  5/8 14 14 426 | 451 | 137 | 45 | 122 | 323
60N 20.2 . 183 | 489 o H2
178 &9 17 17 444 469 | 165 >3 =y WA }
65N | 6.5/10 59 | 192 | 466
KKH4S-50N | 5/8 14 541 | 578 | 137 | 45 | 122 | 570 ° —
60N | 6/9 . 568 | 605 | 165 34 | 204 | 705 1 M
1/4 -65N | 6.5/10 19 280 | ’ ) 5.9 241 | 68.0 L2
80N | 812 1o w54l soq | 174 74 | 351 | 697
-85N | 8.5/12.5 ' : : 78 | 366 | 723
KKH KK P.7
13 ZS\VC



4 » NEW
¢

i el ¥ : 101172
. (sus(:’.04) aan | !*
¢ . %7,8,9
.

0.02 0.77cm®/
0.1 27cm¥%

J «C )
e
°
° -5 150°C
)

SvC 14

O



KKA

(P) (S)
R1/8 | KKA3P-01M | KKA3P-01M-1 R1/8 | KKA3S-01M | KKA3S-01M-1
1/8 | R1/4 -02M -02M-1 1/8 | R1/4 -02M -02M-1
R3/8 -03M -03M-1 R3/8 -03M -03M-1
R1/4 | KKA4P-02M | KKA4P-02M-1 R1/4 | KKA4S-02M | KKA4S-02M-1
it 1/4 | R3/8 -03M -03M-1 1/4 | R3/8 -03M -03M-1
,I. H;E R1/2 -04M -04M-1 R1/2 -04M -04M-1
R3/8 | KKA6P-03M | KKA6P-03M-1 R3/8 | KKA6S-03M | KKA6S-03M-1
172 | R1/2 -04M -04M-1 172 | R1/2 -04M -04M-1
R3/4 -06M -06M-1 R3/4 -06M -06M-1
R1/2 | KKA7P-04M O R1/2 | KKA7S-04M O
—_ 3/4 | R3/4 -06M O 3/4 | R3/4 -06M O
ilIIII [} R1 -10M 0 R1 -10M 0
v R3/4 | KKA8P-06M 0 R3/4 | KKA8S-06M O
1 R1 -10M 0 1 R1 -10M O
R1 1/4 -12M 0 R1 1/4 -12M O
R1 KKA9P-10M O R1 KKA9S-10M O
1 1/4| R11/4 -12M O 1 1/4| R11/4 -12M O
R1 1/2 -14M O R11/2 -14M [ul
Rc1/8 | KKA3P-01F | KKA3P-01F-1 Rc1/8 | KKA3S-01F | KKA3S-01F-1
1/8 | Rcil/4 -02F -02F-1 1/8 | Rcl/4 -02F -02F-1
Rc3/8 -03F -03F-1 Rc3/8 -03F -03F-1
Rc1/4 | KKA4P-02F | KKA4P-02F-1 Rcl/4 | KKA4S-02F | KKA4S-02F-1
1/4 | Rc3/8 -03F -03F-1 1/4 | Rc3/8 -03F -03F-1
E Rc1/2 -04F -04F-1 Rc1/2 -04F -04F-1
Rc3/8 | KKA6P-03F | KKA6P-03F-1 Rc3/8 | KKA6S-03F | KKA6S-03F-1
1/2 | Rcil/2 -04F -04F-1 1/2 | Recl/2 -04F -04F-1
Rc3/4 -06F -06F-1 Rc3/4 -06F -06F-1
Rc1/2 | KKA7P-04F O Rcl/2 | KKA7S-04F O
e —. 3/4 | Rc3/4 -06F 0 3/4 | Rc3/4 -06F 0
--._ - Rcl -10F O Rcl -10F O
— Rc3/4 | KKA8P-06F 0 Rc3/4 | KKA8S-06F O
1 Rcl -10F O 1 Rcl -10F O
Rcl 1/4 -12F 0 Rcl 1/4 -12F 0
Rcl | KKA9P-10F O Rcl | KKA9S-10F O
1 1/4| Rcl 1/4 -12F O 1 1/4| Rel 1/4 -12F O
Rcl 1/2 -14F 0 Rcl 1/2 -14F O
15

O



. KKA3LD [ 100kPall 1.0MPa
KKA4JE1718190 00 1.0MPa
10MPa
0501500 ( )
)
JIS
: SUS304 ( FKM)
—-Ot —<O+—
)
0>—+—<0O
) KKA KK KKH
t O
t 2
mm
KKA3P-01F KKA3S-01F 17.4
KKA4P-02F KKA4S-02F 26.4
KKAG6P-04F KKA6S-04F 54.2
cm3/ cm3/ KKA7P-06F KKA7S-06F 99.6
KKA3 0.02 01 KKA8P-10F KKA8S-10F 168.3
KKA4 0.04 01 KKA9P-12F KKA9S-12F 332.1
KKA6 0.06 0.2 KKA3P-01M-1 KKA3S-01M 185
KKA7 0.14 05 g KKA4P-02M-1 KKA4S-02M 31.8
KKA8 0.27 0.9 KKA6P-04M-1 KKA6S-04M 55.3
KKA9 0.77 27 KKA3P-01M-1 | KKA3S-01M-1 226
g KKA4P-02M-1 | KKA4S-02M-1 40.2
KKA6P-04M-1 | KKA6S-04M-1 76.0
3 1/8 .
4 1/4 P -1
6 1/2 S YKKATIg19
7 3/4
8 1 01 R,Rc1/8
9 11/4 02 R,Rc1/4 i
03 R,Rc3/8
04 R,Rc1/2 M ( )
o 06 R,Rc3/4 F
o 10 R,Rcl
° 12 R,Rcl 1/4
X 14 R,Rcl 1/2
)
16

O

SvVC




K

A

ek m e
i

(KKA9P-12F+KKA9S-12F)

L oo

A

A e —
'
'
'
'
Lococcqooocst
'
!

005 f-----

0.2

0.1

0.05

m3/min

~ T — w —— — — S}
| | | | —~\ | | | | | | =\ | \ | [ )
U T T — I\ | O B \%, o =\ -\ .7
Lt X g o\ gle AR = W) W
] ) ] ] ] ] 1| O ] ] ] ] ] ] ] o
[m < ) < o
g | | S | | | h | | I | | | G
1 1 1 1 = 1 1 1 N~ 1 1 1 P 1 1 1 (7))
e ] ] + ] ] K| o ] ] ] < ] ] ] ] 0
Lo e cicodicooie [ SN VP [ g Lo o= mooais + . - \aemca-cho o Q@
2 i S T\ r¥lo i i hr i i 7 Zo
O ) | T | = N | = . | | | X
P N\ 28 0\ + g\ 8\ «\ X
N i i X i TN S g ! i i N
e e e N e Iy O] ' F---- S4--\d-. SE--b---\--d--J2-- -
T V- Q| ° I - W | s|°
L D , a PO N¥E 0\ =
i i I I i i i N~ Y] i l i i i
o ~ © (] Qo
It S il S W N 1 S Frrov TNy dls
1 1 1 1 T 1 1 > © oL 1 ! [ 1 1 1 ™ ©
2 N\ | £ X & NI P | 22 o
< ! ! ! ) ! i ! ! ! i ] ] ] < s
ylMK\fl\fl,\lwr\:fl_\ o\ oy |0 = y\\\,\m_\\\\,\\\,\\ ISR W \KW‘S.
i i i i i i T i i i i i i i i T
¥ X | | | | | | o C o | | ! | | |\ X¥X<=|0o
: | | | | | | | i | | | | | |
i i i i i i Y i < S| i i ) i i i <
[ I S S I T [ = L. S i o\ W«
1 T T I i J 1 T T I 1 i T J
o o o
| i | | i | A | D | | | | | | |
| | i | | | , o | | | g | | |
R T e A W O ™ ,16%”1‘”‘1”1\”11,‘ L U e
R A R S W o S T NN h o
| | | | | | ) | | X | | | | | |
] ] ] ] ] ] ] ] ] X ] ] ] ] ] i
IS T T S S N WA O SRS N S S S I N 40 W W
i i i i i i i I | o i i i i i i i o
| | | | | | | | | i | | | |
| | | | | | | | | | | i | |
IS S S S S O W W W IS S S S S St N e W O =
i i i i i i i ' ] o 1 ' ' 1 1 i i ' ) o
| | | | | | | | ! | | | | | | | | |
| | | | | | | | | | | | | | | | .
| | | | | | | | ) | | | | | | | |
. . . . . . . . . o . . . . . . . . . o
o 0 o 1o} o 1o} o 0 o 1o} o o (&)} (o] N~ © o <t [} N - o
o < < ™ ™ [\ N — — —
OUNV @iw/ew OdNV @iw/ew
, L B e e e o o — Ty [T o
' — ' ' —\ ! ' o~ | = ' ' ! ' =\ ' ' ' -
e N W P A S I
- A = N2\ s,
F------Q--q-\-r---r-- h N--K---F T 2 A S & " TR i PR | e =
| » | | <\ P 1o | | | = . | i Q| O
' © ' ' S ' M ' ' ~\ 3 ' ! Y
| | | | | | 1 |
| AKn | \ | X ! | W © ] ' W \ S l ,M ©
Locce=o Moo Gosoteoe == —alboodles i fommmmma--- Yo\ & -\ - --- -
X i i & ' + | O i ! Q N\ ¥ I i 1 X O
I S A N I\ & o \¥E2: \' |\ ¥
oo | | : =
g Nszg o\l g RSN S O
| - | | | < | o | | >4 | | S|o
I ¥% i |leon 10 & , , =
] oS ! ] \ ¥ X< ] AM ] ] T ] i ] b=y
| | | ; | | | | | i | | | :
v\w\”\M <L i i o _aJ__\L_ “Kw © R ‘I_.‘wr\w\r SR W a9
T X ] ] ) T i ] =1l o | ] = | ) ] ] ] »®|O
' N2 ' ' ' ' T | 1 © ' ' ' ' ' ' ' < o
X ] ] ] ] ] o ] ] 5 ] ] ] ] AK o
A S S W IR SO S N VA 31 -
! 1 i 0 i ' | I i o ! 1 o 0 i | | ~lo
R A T ¢ o e 0 N\
| | i | | | | | i - i i | I
R R U IR AP e JEDSRY T W T I Lol 1.y Wl,\l\rl\r\ RN [
i i 1 T i T i T S i -G T i g i 7 i S
| | | | | | 4 | i i = i i | |
T T T S W O N I T T R
L A N I TR S W W1 W ) | T ) WA W T
T T N ) e N W )
| | | | | | | | ! | | | | | | | | |
| | | | | | | | 1 | | | | | | | | |
i i i i i i i N i i i i i i i i i o~
R R R W W I e S A R W VR R
| | | | | | | | ! | | | | | | | |
T A - A -
R S S R P W | O R S R P W W I
i i i i i i i i ! o i i i i i i i i i o
| | | | | | | | | | | | | | | |
| | | | | | | | ) | | | | | | | | )
| | | | | | | | | | | | | | | | | |
. . . . . . . . . o . . . . . . . . . o
_ﬁlv. (@] @ N~ © 1o} <t [s2] N - o m (&)} 0 N~ © o <t [} N I o

YNV @i/

YNV @i/

(KKABP-04F+KKABS-04F)

'
i
'
PR
i
'
'
1
poccopestoy
'
g

005 f----
0025
0

0.05

0.04

0.01

o

m3/min

17



O

1 1

2 2

3 3

4 FKM 4

5 FKM 5

6 6 FKM
7 FKM
8 FKM
9 FKM
10
11
12
13

18



KKA

(P)

(mm)
v S I P
mm2 g
KKA3P-01M | R108 14 | 354 31.4 15.4
108 02M | Ri04 384 | 160 | 324 | 56| 17.4| 198
03M | R308 3904 32.9 32.9
KKA4P-02M | R104 17 | 422 36.2 283
104 03M| R308 432 | 189 | 367 | 69 | 26.4| 366
204M | R102 22 | 462 38.2 65.9 A
. KKA6P-03M | R308 471 40.6 60.3
Al 102 04M | R102 24 479 204 [ 399 | 100 | 542| 692 [T
f.h 06M | R304 30 | 499 40.4 119.0
KKA7P-04M R1/2 4 | 663 58.1 173.9
304 -06M | R3/4 69.4 | 27.6 | 59.9 | 135 | 99.6|20956 H Lo
-10M R1 36 | 69.9 595 275.0 L
KKA8P-06M R3/4 41 | 829 734 362.8
1 -10M R1 854 | 356 | 750 | 17.5 |168.3|403.9
A2M| R11/4 | 46 | 854 72.7 538.6
KKA9P-10M R1 109.5 90.1 | 22.0 |264.9|824.1
1104 A2M | R11/4 55 [1000| 401 [963 [ [ [s614
A4M | R11/2 109.0 96.3 936.3
(mm)
T H L1 L2
mm2 g
KKA3P-01F | Rcl08 14 | 360 20.2
108 02F | Rcil4 17 | 396 | 160 | 56 | 174 | 318
03F | Rc308 19 | 404 35.8
KKA4P-02F | Rcil 4 17 | 434 36.1
104 .03F | Rc308 19 | 444 | 189 | 69 | 264 | 402
-04F | Rci02 486 69.7
KKA6P-03F | Rc308 24 | 487 84.1 .
102 -04F | Rc102 529 | 204 | 100 | 542 | 797 - :[EB}]
-06F | Rc304 30 | 546 1238 |
KKA7P-04F | Rc1/2 67.7 2171
304 -06F | Rc3/4 32 604 | 276 | 135 | 996 | 1968 H L
A0F Rcl 724 3259 L
KKA8P-06F | Rc3/4 41 | 820 4205
1 10F Rcl 850 | 356 | 175 | 1683 | 3913
A2F | Rcl 1/4 50 | 87.3 552.8
KKA9P-10F Rcl 107.8 986.9
1104 12F | Rcl 1/4 55 | 1101 | 491 | 246 | 3321 | 9256
A4F | Rc11/2 110.1 848.2

19

O




/  (S)
(mm)
U . oD L A
mm? 9
KKA3S-01M R108 381 34.1 385
108 -02M R104 17 | 185 | 411| 35.1| 59| 185| 418
-03M R30 8 42.1| 35.6 46.3
KKA4S-02M R10 4 46.0| 40.0 76.8
104 03M| R308 22 | 242 | a70| 405| 77| 318 785 A T
-04M R10 2 50.0| 42.0 86.6 —
KKA6S-03M R30 8 51.4| 44.9 1491 | | —
102 -04M R102 30 | 307 | 544| 46.4| 102 | 553|1604 © |=':
-06M R304 56.4| 46.9 184.8
KKA7S-04M R1/2 76.3| 68.1 426.1 \
304 -06M R3/4 36 | 425 | 79.3| 69.8| 136 |101.5|457.8 H
-10M R1 828| 724 514.0 L
KKA8S-06M R3/4 949| 854 8735
1 -10M R1 46 | 55 98.4| 88.0| 17.6 {169.9|931.1
-12M | R1 1/4 100.4| 87.7 1012.9
KKA9S-10M R1 1255|115.1| 22.0 | 264.9 |1680.7
1104 -12M | R1 1/4 63 |69 |1275|1148| |, |17581
-14M | R1 1/2 127.5|114.8 1819.4
(mm)
T H oD L
mm?2 9
KKA3S-01F | Rcl108 376 46.9
108 -02F | RclO4 17 185 | 412 | 59 185 | 472
-03F | Rc308 19 431 52.3
KKA4S-02F | Rcl0 4 46.1 97.1
104 -03F | Rc308 22 242 | 469 | 77 | 318 | 911
-04F | Rc102 24 523 1043 7 — A
KKA6S-03F Rc308 50.5 189.6 al _ /
102 -04F | RclO2 30 307 | 562 | 102 | 553 |2020 © |
-06F | Rc304 57.9 180.6
KKA7S-04F Rc1/2 75.1 477.2 \
304 -06F Rc3/4 36 425 | 765 | 136 | 1015 | 457.4 H
-10F Rcl 41 82.3 550.9 L
KKA8S-06F Rc3/4 90.9 935.2
1 -10F Rcl 46 55 939 | 176 | 1699 | 914.7
-12F | Rcl 1/4 50 99.2 1002.1
KKA9S-10F Rcl 121.8 1919.1
1104 -12F | Rcl 1/4 63 69 121.8 | 251 | 3449 | 18100
-14F | Rcl 1/2 121.8 1732.6
ZS\MC 20



KKA

(P)

(mm)
! : L | 2| A
mm?2 9
KKA3P-01M-1| R108 12 | 285 245 9.8
108 -02M-1| Ri04 14 | 315|160 | 255 | 60| 226 | 146
N .03M-1 R308 325 26.0 236
Im - KKA4P-02M-1| R104 17 | 344 28.4 210
104 -03M-1| R308 354 | 189 | 289 | 80 | 402 | 27.9
-04M-1| R102 390.4 314 50.2
KKA6P-03M-1| R30 8 22 | 379 31.4 41.9
102 04M-1| R102 409 | 204 | 32.9 | 110 | 760 | 56.0
-06M-1 R304 30 | 429 33.4 98.7
(mm)
T . L1 L2
mm?2 9
KKA3P-01F-1] Rc108 14 | 232 96
108 -02F-1| RciO4 17 | 303 | 160 | 60 | 226 | 202 T
-03F-1] Rc38 | 19 | 320 26.2 =
KKA4P-02F-1| Rc104 17 | 2907 20.0 i:‘]Eﬂ
104 -03F-1| Rc308 19 | 340 | 189 | 80 | 402 | 258 —
-04F-1| Rci02 24 | 394 46.1
KKAG6P-03F-1] Rc308 22 | 309 343 M L2
102 -04F-1| RciO2 24 | 396 | 204 | 110 | 760 | 500 Lt
-06F-1] Rc30 4 30 | 428 78.6
(S)
(mm)
T H oD | L A
mm?2 9 A T
KKA3S-01M-1| R108 381 | 341 36.1 -
108 -02M-1 R104 17 | 185 | 411|351 | 61| 234 394
-03M-1 R308 421 | 356 439 g 1 L. m
Tﬂ KKA4S-02M-1 R104 46.0 | 40.0 71.9
104 -03M-1 R308 22 | 242|470 405 | 81412 736
-04M-1 R10O2 50.0 | 42.0 817 H
KKA6S-03M-1| R308 514 | 44.9 138.3 L
102 04M-1 R102 30 | 307|544 | 464 | 11.4 | 816 |1496
-06M-1 R304 56.4 | 46.9 174.0
(mm)
T H oD
mm?2 9
KKA3S-01F-1| Rc108 37.6 445 T
108 -02F-1| Rc104 71 185 [412 61 | 234 | 448 /
-03F-1| Rc308 19 43.1 499 q R
KKA4S-02F-1| Rc10 4 46.1 922
104 -03F-1| Rc308 22 | 242 [ 4690 | 81 | 412 | 862 !
-04F-1| Rc102 24 523 99.4 ’
KKA6S-03F-1| Rc308 50.5 178.8 L
102 -04F-1| Rc102 30 | 307 | 562 | 114 | 816 | 1912
-06F-1] Rc304 57.9 169.8

21

'\




RECTUS

RECTUSlzl

(P) (S)

- R1/8 KK13P-01M
% R 1/4 -02m
R 3/8 -03M

R1/2 -04M

o Rc 1/4 KK13P-02F
; Rc 1/2 -04F

G1/4 -GO2F

R1/8 KK13S-01M
R 1/4 -02M
R 3/8 -03M
R 1/2 -04M

Rc 1/4 KK13S-02F
Rc 3/8 -03F
Rc 1/2 -04F

e
: e 14" KK13P-07B 14" KK135-07B
W 174" -09B Eﬁ 114" -09B

3/8" -11B 3/8" -11B
172" -13B 172" -13B
( ) )
/ /
5/8 KK13P-50N 5/8 KK13S-50N
6/9 -60N 6/9 -60N
6.5/10 -65N 6.5/10 -65N
8/12 -80N 8/12 -80N
8.5/12.5 -85N 8.5/12.5 -85N
11/16 -110N 11/16 -110N
ZS\NC %



KK13

(P) (S)
L1
20
1
aliiinniP 3
T = :
T;_ \ H
A
(mm) (mm)
T
v = L1 A L1 A
mmz2| 9 mm2 9
KK13P-01M R1/8 " 340 | 300 | 60 | 226 | 18 KK13S-01M R1/8 455 | 415 6.0 | 19.0 81
-02M R1/4 570 31.0 22 -02M R 1/4 85 425 70 | 241 86
-03M R3/8 17 " 1306 | 75 |33 ]| 27 -03M R 3/8 ’ 421 10 31.1 89
-04M R1/2 22 | 440 | 358 51 -04M R1/2 53.0 | 448 ' 321 | 108
L1
20 —_—
T T
R
- T r ® N ._/—
L) = ) ,
H /
(mm) (mm)
T H 1 T H 1
mma2 ¢ mmz2 9
KK13P-02F Rc 1/4 17 | 355 27 KK13S-02F Rc 1/4 2 47.0 | 105 | 257 | 103
-03F Rc 3/8 19 | 39.0 32 -03F Rc 3/8 52.0 31.1 107
75 | 353 10.2
-04F Rc 1/4 24 | 425 51 -04F Rc 1/2 24 | 555 32.1 117
-GO2F G1/4 17 | 320 27
( (
62
48 25
25 20
Q_r\ - | et} c: - - - T:
@ DIINSEC s 18
21
(mm) (mm)
oD oD
mm2 9 mm2 d
KK13P-07B 6(1/4") 75 4.1 10.6 17 KK13S-07B 6(1/4") 75 4.1 8.0 81
-09B 8(1/4") 9.4 6.0 22.6 18 -09B 8(1/4") 95 6.0 16.1 -
-11B 9(3/8") 11.5 . 5.3 21 -11B 9(3/8") 11.5 8.0 25.4
-13B 12(1/2") 145 ' ’ 25 -13B 12(1/2") 145 10.2 31.9 88
0
25
% SNC



(P) (S)
( ) ( )
L1 i
M 20 H1 M
H2 H1 _ H2
— -
[s2} Y =
D ST IEE
freoecs) [S)
__J -
(mm) (mm)
H1 H2 H1 H2
L1 M L1 M
/ mmz| 9 / mmz| 9
KK13P-50N 5/8 10.6 KK13S-50N 5/8 8.5
-60N 6/9 17 17 43.0 | 17.0 ] 42 -60N 6/9 17 53.2 | 17.0 . 98
-65N 6.5/10 63 -65N 6.5/10 21 '
-80N 8/12 -80N 8/12 19 | 552 | 190 | 229 | 10
1 1 45, 19. . 5. . . 5
-85N 8.5/12.5 9 9 501190285 ) 52 -85N 8.5/12.5
-110N 11/16 23 23 | 52.0 | 230 | 309 | 98 -110N 11/16 24 23 | 59.2 | 23.0 | 25.0 | 142
26
ZSNC



KK/ KK13

1 [
ISO4414 ” JISB 8370 ?

1) 1S04414 —
2) JIS B 8370

O
3



al: -

- ]
A A
KK,KKH KKA
RECTUS KK13
A
A
- I
A
- ]
A
2)
b)
0
d)



3

2

’

-1

TK

08 09 1

MPa
MPa

04 05 06 07

0.3

0.2

0.1

KKA
=z




M5
1 1015N- m
1/6
2)
3)
D
2-3
N-
NPT[R1/8 709
NPTCR1/4 12014
NPTCR3/8 220 24
NPTIR1/2 280 30
NPTCR3/4 280 30
NPTIR1 36038
NPTIR1 1/4 400 42
NPTLR1 1/2 480 50
2)
3)
4)
1) 2 3
2)
3)
5)

O

+0.1mm
+0.1mm
+0.15mm
—0.2mm



